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7 100kN/m%z#Z5| 100|000 ~ 222 13454 |3m&EEZE — ~ — — — | 100kN/M%&#B2% | 1.00 | 11.75 ~ 3023 | 134.54 |3m&E#BZ% - ~ — — —
st 1.00 | 222 ~ 1001 100.00 | #nLst | 0.00 ~ 1001 2.86 15.30 ThLst 1.00 | 6.00 ~ 11.75 100.00 | =nLst | 6,00 ~ s023| 2.86 15.30
2 100kN/m% %% | 1.00 | 000 ~ 208| 13222 |3m&E{BZ%| 000 ~ 061|325 17.37 | 100kN/mi%#825 | 1.00 | 1249 ~ 4059 | 13222 |3m&E#BZB| 20.00 ~ 40.59| 3.25 17.37
zhLst 1.00| 208 ~ 987\ 100.00| #hLs | 061 ~ 9.87| 3.00 16.05 FnLsn 1.00 | 6.00 ~ 1249 100.00 | FhLst | 5,00 ~ 40.00| 3.00 16.05
3 100kN/m##82% | 1.00 | 0.00 ~ 38.54 15713 |3mZEBz 5| 000 ~ 1.27| 3.61 19.29 | 100kN/mi%#825 | 1.00 | 1055 ~ 4306| 15713 |3m&E#BZB| 2500 ~ 4306| 3.61 19.29
st 1.00 | 364 ~ 1132 100.00 | TS | 1.27 ~ 11.32] 3.00 16.05 ThList 1.00 | 6.00 ~ 1055 100.00 | ThLst | 6,00 ~ 2500 3.00 16.05
4 100kN/m%#8%% | 1.00 | 000 ~ 353 156.99 |3mEBZ%| 000 ~ 034| 3.18 17.01 | 100kN/m%E#BZ% | 1.00 | 1053 ~ 3618| 156.99 |3mE#BZS| 2500 ~ 3618 3.18 17.01
st 1.00 | 363 ~ 1132 100.00 | =nLSt | 0.34 ~ 1132 3.00 16.05 ThLst 1.00 | 5.00 ~ 1053 100.00 | =nLst | 6,00 ~ 2500\ 3.00 16.05
5 100kN/m%#8%z% | 1.00 | 000 ~ 339| 16441 |3m%FBZ%| 000 ~ 035| 3.19 17.05 | 100kN/m%#BZ2% | 1.00 | 1054 ~ 3212 154.41 |3mEBZS| 2500 ~ 3212 3.19 17.05
st 1.00 | 339 ~ 1117 100.00 | NS | 0356 ~ 1117] 3.00 16.05 ThList 1.00 | 6.00 ~ 10.54 100.00 | 0S| 6.00 ~ 2500\ 3.00 16.05
P 100kN/m%E#BZ5 | 1.00 | 000 ~ 295 146.74 |3mE#BZD| 000 ~ 0.05| 3.03 16.19 | 100kN/mi%#8z25 | 1.00 | 1072 ~ 3060 | 146.74 |3mERBZB| 3000 ~ 30.60| 3.03 16.19
zhLst 1.00 | 295 ~ 1073 100.00 | #hst | 005 ~ 1073 3.00 16.05 FnLsn 1.00 | .00 ~ 1072 100.00 | 0S| 6.00 ~ 30.00| 3.00 16.05
7 100kN/m%E#Bz5 | 1.00| 000 ~ 174 126.68 |3mZEBAD| — ~ — — — | 100kN/m%E#Ez25 | 1.00 | 11.82 ~ 2235| 126.68 |3m&EEZ5 - ~ — — —
ThLlst 100|174 ~ 952| 100.00| FThLs | 000 ~ 952|245 13.10 TnList 100 500 ~ 11.82| 100.00| ThLS | 5,00 ~ 2235| 2.45 13.10
P 100kN/m%Z#Bz25 | 1.00 000 ~ 1.29| 119560 |3mZEBZB| — ~ — — — | 100kN/m%#B=25 | 1.00 | 1264 ~ 20.82| 119.50 |3mE#BZ3 - ~ — — —
ThLlst 100|129 ~ 907\ 100.00| FhLs | 000 ~ 9.07| 2.39 12.81 TnList 1.00 ] 5600 ~ 1264 100.00| ThLS | 5,00 ~ 2082 2.39 12.81
100kN/mM%EZ 5 ~ 3ImEEZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ TnLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEBZ D ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEERD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




